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i 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#BZ % — -~ — —|3m%EEZD - ~ — - -
ZnLs 1.00| 0.00 ~ 473 58.94 | #nkist | 000 ~ 0.00 | 1.65 8.36 ZnLs 1.00 ] 500 ~ 5.00 58.94 | Z#nli4t | 500 ~ 500 1.65 8.36
9 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#B 2% — -~ — —|3mZEEZD - ~ — - -
ZnLs 1.00| 0.00 ~ 5.04 62.79 | #hList | 000 ~ 0.00| 1.67 8.45 ZnLs 1.00] 500 ~ 5.40 62.79 | #nlist | 5.00 ~ 540 | 1.67 8.45
3 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — — | 100kN/mi%#BZ % — -~ — —|3mZEEZD - ~ — - -
ZnLs 1.00| 0.00 ~ 5.20 6483 | £nList | 000 ~ 0.00]| 1.70 8.59 ZnLs 1.00 ] 500 ~ 5.60 64.83 | Znkist | 5.00 ~ 560 1.70 8.59
4 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — — | 100kN/mi%#BZ % — -~ — —|3m%EEZD - ~ — - -
ZnLs 1.00| 000 ~ 5.71 7135 | #hList | 000 ~ 0.00| 1.65 8.32 ZnLs 1.00 ] 500 ~ 6.50 7135 | £hiist | 500 ~ 650 | 1.65 8.32
5 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#BZ % — -~ — —|3m%EEZD - ~ — - -
ZnLs 1.00| 000 ~ 5.71 7135 | #hList | 000 ~ 0.00| 1.65 8.32 ZnLs 1.00 ] 500 ~ 6.50 7135 | £hiist | 500 ~ 650 | 1.65 8.32
6 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#BZ % — -~ — —|3mZEEZD - ~ — - -
ZnLs 1.00| 0.00 ~ 6.08 76.20 | #hList | 000 ~ 6.08| 1.79 9.07 ZnLs 1.00 ] 500 ~ 7.00 76.20 | #hList | 500 ~ 7.00( 1.79 9.07
4 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#BZ % — -~ — —|3mZEEZD - ~ — - -
ZnLs 1.00| 0.00 ~ 6.08 76.19 | ZhList | 000 ~ 6.08| 1.79 9.07 ZnLs 1.00 ] 500 ~ 7.00 76.19 | #hList | 500 ~ 7.00( 1.79 9.07
8 100kN/m#%#BZ % - -~ — —|3mEEBZD -~ — — —| 100kN/mi%#B 2% — -~ — —|3m%EiEZD - ~ — - -
ZnLs 1.00| 000 ~ 6.33 7954 | #hList | 000 ~ 633 | 1.86 9.38 ZnLs 1.00 ] 500 ~ 7.60 7954 | #hList | 500 ~ 760 1.86 9.38
9 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi#%#BZ % — -~ — —|3mZEEZD - ~ — - -
ZnLs 1.00| 000 ~ 545 6798 | hList | 000 ~ 0.00]| 1.61 8.15 ZnLs 1.00 ] 500 ~ 6.20 67.98 | #nllst | 500 ~ 6.20 | 1.61 8.15
10 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi#%#BZ % — -~ — —|3mZEEZD - ~ — - -
ZnLs 1.00| 0.00 ~ 6.09 76.40 | #hList | 000 ~ 0.00( 1.71 8.66 ZnLs 1.00 ] 500 ~ 7.00 7640 | ZhList | 5.00 ~ 7.00 (| 1.71 8.66
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ ZhLs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zh s ~ Zh LS ~ Zh s ~ Zh LS ~




